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INSTRUCTIONS TO CANDIDATES

	READ THE INSTRUCTIONS CAREFULLY BEFORE ANSWERING THE QUESTIONS


1. Number your answers EXACTLY as the questions are numbered.

2.
Pay attention to the number of marks awarded to each question.

3.
SECTION A is COMPULSORY.


SECTION B – answer any TWO questions.


SECTION C – answer any FOUR questions.


NB:  
Any surplus questions attempted according to the requirements of Section B 

and  Section C will NOT be considered for marking purposes.

4.
The use of a non-programmable calculator is allowed.

5.
Each question must be attempted on a new page

6. 
Answers must NOT be written in lead pencil (except diagrams).

P. T. O. .../SECTION A ...
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44(ECONH.05)

Page 2 of 15 

SECTION A

QUESTION ONE:  MULTIPLE CHOICE

This question is COMPULSORY and must be answered by all candidates. 

Write numbers 1.1 to 1.33 in your answer book and state only the letter which

 represents the correct answer next to each number. 

Example:
  1.34    B

1.1 
The insatiability of wants means that ...

A. only rich people can satisfy their wants.

B. human wants are limited.

C. wants may vary with the standard of living.

D. it is impossible to satisfy all human wants.





(3)

1.2
The control of money and banking  as one of the functions of the state has been 


entrusted to the ….

A. Minister of Finance.

B. SARB.

C. DBSA.

D. IDC.










(3)

1.3 A monetary gift from  England will be recorded as ……… in South Africa’s 


Balance of Payments.

A. current transfers

B. service receipts

C. goods exported

D. capital transfer







   

(3)

1.4
Normally developing countries cannot process their natural resources because 

they…

A.

lack skills and capital.

B. have less natural resources.

C. are lazy.

D. have over exploited them.







(3)

1.5.
 National income at current prices is also known as … national income.

A. real 

B. gross

C. nominal

D. net










(3)

.../1.16  Regional development …
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1.6
Regional development in South Africa is now known as………. development. 

A. area

B. spatial

C. domestic

D. provincial                                                                       



(3)

1.7
One way to promote privatisation is to …

A. increase government spending.

B. purchase public sector assets.

C. reduce the role played by the private sector.

D. sell public sector assets.







(3)

1.8
Two  countries produce similar goods and  if each country produces one 

product at a considerably lower cost than the other, it is referred to 

as …….cost differences.

A. equal

B. marginal

C. absolute












D. relative










(3)

1.9
Which of the following is a developed country?

A. India.

B. Zimbabwe.

C. Canada.

D. Swaziland.









(3)

1.10
Which one is not a method of determining national income? 

A. Value added.

B. Factor income.

C. Consumption.

D. Expenditure.









(3)

1.11
The price which a seller has in mind, below which he will not sell his product is 

the …… price.

A. equilibrium 

B. long term

C. cost

D. reserve










(3)

P. T. O. .../1.12  Which of 
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1.12
 Which of the following is a monetary policy instrument?


A.
Changing the repo rate.

B. Decentralisation of industries.

C. Promotion of exports.

D. Tariff protection.  








(3)

1.13
 If the Rand depreciates 10% against the Euro, then …

A.
imports  from Europe will increase.

B
South African exports to Europe would increase.

C
Europe’s exports to South Africa will increase.

D
imports from Europe will be cheaper.





(3)

1.14
A factor strategy for development used in South Africa includes …

A. raising loans abroad.

B. international trade.

C. capital formation.

D. providing luxury goods and services.





(3)

1.15
Which of the following is the most effective in bringing about economic 

growth?

A. Technological development.

B. Availability of natural resources.

C. Quantity of labour.

D. Promotion of imports.








(3)

1.16
Demand , supply and utility influence …

A. elasticity of demand only.

B. value.

C. elasticity of supply only.

D. the availability of free goods.







(3)

1.17
Which of the following is the best example of public goods?

A. Museums.

B. Traffic lights.

C. Schools.

D. Toll roads.









(3)

..../1.18 Rates of  …
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1.18 
Rates of exchange which increase due to market forces is known as …

A. appreciation.

B. depreciation.

C. revaluation.

D. devaluation.









(3)

1.19
One of the principles of the RDP is …..


A.
the developing  of human resources.

B. to build the economy.

C. nation building.

D. meeting the basic needs of people.

     



           (3)

1.20
Business cycles are most likely to occur in …. economies. 

A. socialistic

B. paternalistic

C. capitalistic

D. communistic









(3)

1.21
In a monopoly market we find many…..

A. sellers and few buyers.

B. buyers and sellers.

C. sellers but one buyer.

D. buyers but one seller.








(3)

1.22
The responsibility function of the budget process is performed by the ….

A. Auditor-General.

B. Minister of Trade and Industry.

C. Minister of Finance.

D. Director-General of Finance.







(3)

1.23
If  France dumps radios in South Africa, the price of radios will be …

A. cheaper in France.

B. more expensive in South Africa.

C. cheaper in South Africa.

D. the same for both countries.







(3)

1.24
 The informal sector is characterised by …..

A. large scale production.

B. short working hours.

C. scarce capital.

D. high income.









(3)

P.T.O..../1.25
    Which of 
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1.25      Which of the following factors will underestimate national income?  

A. Price increases.

B. Leisure time.

C. Negative elements.

D. Increased expenditure on defence.






(3)

1.26
If car prices increase drastically then the demand for car CD players will…..

A. increase.

B. remain the same.

C. decrease.

D. increase slightly.





              
            (3)

1.27
Which of these is an indirect tax?

A. Fishing licence.

B. Capital Gains Tax.

C. VAT.

D. Television licence.








(3)

1.28
Which of the following situations would give rise to a demand for the Rand 

by the USA?

A.
Machinery from USA imported by Eskom.

B. 
Durban harbour services used by American ships.

C. 
South Africans visiting Disneyland.

D. USA receiving interest on loans made to Eskom.




(3)

1.29
A purpose built industrial estate which is physically enclosed and linked to a 

port with duty free incentives is known as a/an…

A. industrial corridor.

B. spatial area.

C. industrial development zone.

D. rural development zone.







(3)

1.30
At which phase of the business cycle will employment levels, salaries and 

spending decrease?

A. Peak.

B. Recession.

C. Recovery.

D. Expansion.









(3)

.../1.31   Which of 
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1.31
Which of the following can create utility of time?

A. Marketing.

B. Transport.

C. Manufacturing.

D. Storage.










(3)

1.32
The budget that is tabled near the end of the financial year is known as 

the …….budget.

A. main

B. partial

C. supplementary

D. additional









(3)
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1.33
With reference to the diagram alongside, 


if OE is the price the consumer is willing 


to pay for OH units but he finds that OA


is the market price for OH units, the 


consumer surplus will be represented 


by area …….

A. EAP.

B. EGC.

C. AOFP.

D. GC.










(4)

       










        [100]

P. T. O. .../SECTION B
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SECTION B

Answer any TWO questions from this section.  Essays should have an introduction, 

a body and a conclusion in their answers. 
QUESTION TWO

Evaluate the South African economy in terms of the characteristics of a developing

economy.











(50)

QUESTION THREE

“A perfect market is merely an economist’s dream and is hardly ever encounted in

practice.”













With reference to the above, discuss the conditions for a perfect market.


 (50)

QUESTION FOUR

“In order to ensure the growth of local industries, it is necessary for the government 

to impose certain measures to protect local industries from foreign competition.”

Discuss the different forms of protection that may be applied by the South African 

Government to protect local industries.







(50)

QUESTION FIVE

Discuss the requirements of a good system of taxation with reference to the PAYE 

system used in South Africa.


(50)       












     [100]

…./SECTION C …
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SECTION C

Answer any FOUR questions from this section.

QUESTION SIX:  NATIONAL INCOME
6.1 State whether the following statements are TRUE or FALSE.

6.1.1
The South African economy is regarded as an open economy because of 

three participants.








(2)

6.1.2 To obtain the gross value added at basic prices from the gross value 

added at factor cost, taxes on production must be added and subsidies 

on production must be subtracted.






(2)


6.1.3
Inflation will occur at a peak of a business cycle.



(2)

6.1.4 Technology has an effect on the productivity of labour and capital, 

but not on natural resources.






(2)

6.1.5 One way to avoid double counting is to use the added value method 


in the calculation of the national income.





(2)

6.2
Study the table below and answer the questions set.

                    NATIONAL INCOME STATISTICS OF GAYEKA REPUBLIC

	YEAR
	2000
	2001
	2002

	Population
	5 million
	6 million
	7 million

	Per capita income
	R400
	R450
	R 570

	CPI
	100
	110
	120



6.2.1
Which year is the base year?






(3)


6.2.2
Calculate the real per capita income for 2002. 




(3)


6.2.3
Determine the nominal national income for 2000.



(3)

6.2.4 Is there any improvement in the welfare of the citizens of Gayeka?


Answer Yes or No.








(3)

6.3
Discuss the factors that determine economic growth.




(16)


6.4 
Explain how services which are not included can be a problem in the 

calculation of national income.

  





(12)













[50]

P.T.O…./QUESTION SEVEN
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QUESTION SEVEN:  PRICE FORMATION
7.1
State whether the following statements are TRUE or FALSE.


7.1.1
According to the marginal utility theory, the value of a good is 




determined by its marginal utility .





(2)


7.1.2
Utility cannot be measured objectively.    




(2)

7.1.3
Wants cannot be generated from other wants.



  
(2)


7.1.4
Markets help to co-ordinate production and consumption decisions.

(2)


7.1.5 
Merging of industries helps to increase competition.



(2)

7.2
Study the graphs on price elasticity below and answer the questions set.

GRAPHS INDICATING PRICE ELASTICITY OF DEMAND 

               Graph A      


Graph B


Graph C
[image: image3.jpg]
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  P



 P
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Q


          Q


          Q
	P
	R10
	R15
	
	P
	R10
	R20
	
	P
	R10
	R8

	Q
	20
	20
	
	Q
	20
	15
	
	Q
	20
	30



7. 2.1
Which graph indicates an elasticity greater than one?  



(3)

7.2.2   Name the type of elasticity shown in Graph B.




(3)

7.2.3   Which graph will more likely represent the demand for bread?
       
(3)

7.2.4   Calculate the degree of elasticity for Graph C.




(3)

7.3
Explain the relationship between supply and price in the long term.                 
(14)

7.4 
Discuss  the legal reasons for imperfect  competition.         

                   
(14)













           [50]

.../QUESTION 8 …
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QUESTION EIGHT:  
ECONOMIC DEVELOPMENT, REGIONAL 



DEVELOPMENT AND URBANISATION.


8.1 State whether the following statements are TRUE or FALSE.

8.1.1
Development is not purely an economic matter, it includes other aspects.
(2)

8.1.2
The population growth in third world countries hampers development.
(2)

8.1.3 Corridors are spatial areas that offer advantages to manufacturing,

mining and other businesses.






(2)

8.1.4 Mechanisation and automation of farming methods has lead to more

employment in the agricultural sector.





(2)

8.1.5 Toyota is an example of foreign direct investment which is encouraged 

in SA.










(2)


8.2
Study the graphs below and answer the questions that follow.


PERCENTAGE GROWTH IN INFORMAL SECTOR AND 

URBANISATION OF DIFFERENT COUNTRIES








8.2.1
Which of the above countries is most economically developed?

(3)

8.2.2. Which  country  appears to have the highest rate of unemployment 


according to the above diagram?






(3)

8.2.3. Name ONE social advantage that Country B would enjoy.


(3)

8.2.4. The South African economy is best depicted by  (A, B, or C above).

(3)

8.3
Explain the different financial incentives used in South Africa to encourage the establishment of businesses.







(12)


8.4
Discuss the impact of  HIV/AIDS on the household sector.



(16)
       













[50]

P.T.O…./QUESTION NINE
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QUESTION NINE:  INTERNATIONAL TRADE  

9.1
State whether these statements are TRUE or FALSE.

9.1.1 Currently South Africa has a dual rate of exchange viz. the commercial 

rand and the financial rand.







(2)

9.1.2 Special drawing rights is used to alleviate balance of payments 

deficits.       









(2)

9.1.3 Tourists visiting South Africa help to improve the country’s foreign

reserves.  









(2) 

9.1.4 Devaluation is the decrease in the value of a country’s currency 

through market forces. 







(2)

9.1.5 Shares on the JSE purchased by a German citizen would fall under

direct investments on the balance of payments.




(2)








9.2
Study the diagram with regard to economic co-operation below and answer the 


questions that follow:

	
Free Trade

Step 1
	
	?

Step 2
	
	Common Market

Step 3
	
	?

Step 4
	
	Economic union

Step 5



9.2.1
Label Step 2 and Step 4.







(6)

9.2.2 Which form of economic integration would a country achieve, if member 

countries are allowed free movement of labour and capital across 

its borders?


    






(3)

9.2.3   Name ONE advantage of being part of Step 1.




(3)

9.3 
Discuss natural resources (nature) as a cause of international trade.                         (14)




9.4
Explain how protection can help to promote industrial development 

in South Africa. 








         (14)






  





         [50]
.../QUESTION TEN 
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QUESTION TEN:
THE STATE
10.1
State whether the following statements are TRUE or FALSE.

10.1.1    Political aims as well as economic aims are reasons why a country may 

   decide  to follow a policy of protection.





(2)

10.1.2    Tax shifting is possible with company tax.




(2)

10.1.3
   One of the modern functions of the state in South Africa is the

   implementation  of the RDP.






(2)

10.1.4    The Competition Act is an example of the role of the state as a legislator.
(2)


10.1.5    In reality, donations form only a small portion of the revenue raised by 

   the state.









(2)

10.2 Study the bar graph below and answer the questions that follow.

TOTAL PUBLIC DEBT 1997-2003 AS A

PERCENTAGE OF GDP IN SOUTH AFRICA



10.2.1
  What is meant by public debt?






(3)

10.2.2
  By referring to the bar graph above, state why the public debt was the 



  lowest in 2003.








(3)


10.2.3
  What is the total public debt a result of?





(3)



10.2.4
  How can public debt be financed?





(3)

10.3 Explain the aims of the economic policy of the state.




(18)

10.4
Discuss the promotion of social welfare as a function of the state.


(10)







          




           [50]
P. T. O…./QUESTION ELEVEN 
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QUESTION ELEVEN:  CHOICE TOPICS
Choose any TWO topics to answer this section e.g. 11.1 and 11.3.

11.1
INFLATION
11.1.1
   State whether the following statements are TRUE or FALSE.

11.1.1.1
The state can contribute to cost –push inflation by 




increasing VAT.






(2)

11.1.1.2
Inflation benefits people that own fixed property.         

(2)

11.1.1.3
Creditors usually benefit during periods of inflation


while debtors are disadvantaged.




(2)

11.1.2
   With the aid of an example show how inflation can lead to a 



   decline in the real value of savings.





(7)


11.1.3
   Explain THREE fiscal measures to control inflation. 



(12)














[25]




11.2
PRODUCTIVITY AND UNEMPLOYMENT
11.2.1    State whether the following statements are TRUE or FALSE.

11.2.1.1
As unemployment in a nation increases, the spending in 



the nation increases.






(2)





11.2.1.2
Increasing productivity levels can help to improve the 



balance of payments of a country.




(2)

11.2.1.3
An oversupply of labour may contribute to lower 



employment levels.






(2)


11.2.2
   Explain how management can play an active role in increasing 



   productivity levels amongst their labour force.




(7)




11.2.3    Distinguish between structural unemployment and cyclical 


   unemployment.








(12)











           [25]
.../11.3  LABOUR RELATIONS 
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11.3
LABOUR RELATIONS

11.3.1
   State whether the following statements are TRUE or FALSE.

11.3.1.1 In South Africa workers are compelled to become members 

of a trade union.






(2)

11.3.1.2 A function of the Labour Court is to promote a healthy 

relationship between employer and employee.


(2)

11.3.1.3 The price of goods and services will influence the demand 

for labour. 







(2)

11.3.2
   Describe the role of the Employment Conditions Commission



   (formerly the Wage Board).






(7)

11.3.3
   Discuss the restrictions that are placed on trade unions.


(12)














[25]

11.4
STRATEGIC RESOURCES IN SOUTH AFRICA

11.4.1
   State whether the following statements are TRUE or FALSE.

11.4.1.1
Nuclear power resources are relatively undeveloped as a

source of energy in South Africa.




(2)




11.4.1.2 The agriculture industry in South Africa has the potential

to make a considerable contribution to the food supply of

South Africa.







(2)






11.4.1.3 SAFCOL is directed towards promoting tourism in 



South Africa.







(2)


11.4.2
    Explain the economic importance of Eskom.




(7)

11.4.3
    Discuss the role played by the Department of Water Affairs and Forestry 

    in the economy of  South Africa.
   



           (12)




        



    
                      [25]




    

  

      25 + 25 = [50]

TOTAL MARKS:  400
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